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ACDE = AFGH , m<G = (x + 17)°, m<E = (19 - x)°, m<H = (27 - 2x)°, GH = 39 - 3x.
Find DE.

ARST = AXYZ , meR = (11x - 1)°, meX = (9x + 5)°, and RT = 7x + 5, Find XZ.

AJKL = AMNO, meK = (3x + 7)°, meN = (2x + 24)°, meL = (5x - 42)°, and m<O = (4x - 25)°.
Find the measure of <M.

Find the measure of each angle in A4 BC
ZA=(x)°

ZB=(1.5x+15)°

£C = (3.5x-13)°

State the postulate or theorem you would use to prove each pair of triangles congruent. If
the triangles cannot be proved congruent, write not possible.
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